j(/\ 4‘63(4( Ca‘c;u/o,_c

e

‘mo(eﬁ,\/\)’}e % J‘%,/q/
F [(f] — AF(ﬁ] y I|. '( };T(ﬁ) l\S G av +;' ‘ﬂ[@(/\tl\/q /\(V(_,

[l f—)no(snj Fexl can be OH:J:@/*/- (/ O

5
o o
RRING Your CALLULATOR o <lass ()



&,[i AU@M)@. Uq/ué J\:a Fdn/)o'/—fb\/\

(01
) : (+ 219
, </ -
& &Wc)f% @7& i‘(g\/l{} N 3 - _15
mean DESCRETE

wl/,4+ alm‘} ?? e C(ﬂLa I fé?/‘cfse/ﬂzﬁc( é»}/ a 7911/)(,7[,@;_?

% Feg = A : —
Pr Cp/pg%zﬁ% ’J:a/)c;’}ﬁ\m 5[,,oq// / M } f\
hat TH SAME AVERJGE « °

oUle CW\\/ }ﬂ‘l‘QﬁA( (, 2~1 = (
9 = Qvg +tn = are over e

2]
lensth X T \sm[eruq J



Q N | /I
o< an ’F/ﬁ) B S ’F( p a[/( ~ /é)*re«

(
OU@(EC‘/(Gj T b-a %4 (@@%ZPMJ‘@“‘/







= = a b
/“ /T
—

<

U 2
S ]SS}AFJKJ - T A a
B ey ~oE36E2



40 Tow W
_Z OWWN ?Oruid%u (< 3(\/(4\ Qv7/ P(+> = 570’“’037)‘/'
whee P i< mé»fs«m/ o (000 ol )

VA y@dff Shce AODO
1,\/],,4‘}’ i Tl C?Uj @fc«/q?lz‘m ‘F\MM 2010 T 2080 7

an' Py = S0 (1037) = 570 = 570
pmff?o (1037) < 77/0/

|
L\ g (1037 J
_/— S f(+ = ) 7 > 7L

avy = =10 o

N IR R~ GeY U 22




